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LINDAB SZELEMEN KIMUTATAS
TELJES SZERKEZETRE
JEL |MEGNEVEZES| DB | HOSSZ [&sszHOSSz| (m) (kg/m) (kg)
szi 7150.1,2 6 6550 39300 39,30 2,45 96,29
sz 7150.1,2 43 4900 210700 | 210,70 2,45 516,22
Sz3 7150.1,2 5 4480 22400 22,40 2,45 54,88 ANYAGJELLEMZ O K
Sz4 7150.1,2 3 4780 14340 14,34 2,45 35,13 ACEL <5000
Sz5 7150.1,2 3 360 1080 1,08 2,45 2,65
S76 7150.1,2 3 2880 8640 8,64 2,45 21,17
sz7 7150.1,2 9 4780 43020 43,02 2,45 105,40 7624 Pécs, Batsanyi J. u. 18.
Sz8 | Z150.1,2 7 4480 31360 31,36 | 245 76,83 ‘vk ATA N A Z OVT E RV T2/ Z’fwf > fooégaigile%t 22// r3134701 0
S79 7150.1,2 9 6550 58950 58,95 2,45 144,43 ‘ k MERNOKI IRODA KFT. Www.atanazovterv.hu
SZ10 2250.1,5 8 5200 41600 41,60 5,00 208,00 Epitteté: PECSI TUDOMANYEGYETEM
SZ11 7250.1,5 16 5200 83200 83,20 5,00 416,00 7622 PECS, VASVARI PAL UTCA 4.
Sz12 7250.1,5 264 4900 1293600 | 1293,60 | 5,00 6468,00 Munka helye & megnevezése:
7| 75015 s om0 T a0 840 T 500 T 26200 MODERN VAROSOK PROGRAM — PTE TTK BIRKOZOCSARNOK
SZ714 7250.1.5 16 6550 104800 104,80 5.00 524.00 7624 PECS IILKER. IFJUSAG UTJA 6/A.HRSZ.: 4903/1
szi5|  z150.1,2 4 6200 24800 24,80 2,45 60,76
Szi6 |  z150.1,2 3 3177 9531 9,53 2,45 23,35 Rajz targya: e
SZ17 | 7150.1,2 3 4945 14835 14,84 2,45 36,35 LINDAB SZELEMENEK 21210
szig| z150.1,2 12 6650 79800 79,80 2,45 195,51 — T — Mrzo
SZ19 | z150.1,2 9 6200 55800 55,80 2,45 136,71 ¥ oL e e e —
sz20| z150.1,2 3 6150 18450 18,45 2,45 45,20 2 Mo [/(J— /44"““\ %’Z? JSa_ 2
OSSZTOMEG:| 9428,86 kg g oo oo Index: .00




